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Topics to be Covered

special Cases of 2G



Topic: SPECIAL CASES

of &Y 2022-23
- In Hands of Mry . E
F 1 ,00 ,00 ,000

1) Tremp
-

M2 1 ,00 ,00 ,000

1-1 IWA 200000 x 348/100 6 ,96 ,000

- ICOI 300000 x 348/105 9 ,94 , 286

-3 I10I 100000 x 3481240 580 ,000

em - 77 , 29 ,714
-
-

-



02 &y 2020-21
-
-

In hards of X No Ton Impl as Gift is Not a transfer .

In noeds of y

#s-> Gift Toaste As Dy exey 550 ,000

Tanable Gift=SDY is 5 ,00 ,000

↳ non for land In

9423-24 In hands of Y
hands of Mr -y

i Post 1120-34 12123

38m Hold

-
Fuc 25 ,00 ,000

-C IWA

5 ,00 ,000 x If23-24 in348 5 ,78 ,073

If 20-21301
-

Tc 19 , 21 ,927
-
-



03 2009-10 year of convenor of 1A Into SIT
-

-

No Ton Implication will Are . Cap , gain shall be

Taxable In the year In which convented sit is
solc

-
Fuc (FN or Conv , date) 11100 ,000

1-7 Tremp
-

Net conside 111001000

<- > IC -O ·A 3 x 1809-10 in 148 4 ,44 1000

If 01-02 11 100

1214 7 656000 -
-
-

&y 21-22

PGMP Busines Income = Sale-cost of cor .Sit
-

=> 650000 - 11 100 ,000 x 50%

= 1 ,00 ,000

- c
=> 656000 x 50%: 328000

+I = 1 100 ,000 + 329000 = 428000



Py23-2
PuO Busine Income = sale-cost of low . Sit
-

=> 750000 - 1100000x 50%
= 200000

↳ (c
= 656000 x 50% = 325500

T1 = 200000 + 328000 = 528000

Cax3 compulsory Acquisition of & immovableGroqui-

- -

- ⑧a1110110 1110114 111122- 1 14122
1110122

/14123
I I I I

HP Acq - Impo compulsory Aeg . An,hal comp Bali
=

252a -52 compercanor =602
Y

comp402
fix = & 12 case file -

I 114124
Litigator Enhancel

3 = 22 =154rest comp=4
--



· Transfer-> year in which Asset Is compulsorily Acquired
⑧ * 2 => comperation +- ined
· Tonability => In the year in which Initial comp , is Reed .

· Bolorc compensation => No Tox Implicator .
· enorvey compusation=> Tonable in year o Receipt win c

· Lingator pap allowed as dee /Or
- or ina1-> Mate= LIST4 cyay driq

#- 22 : No Tax Implication . Lap , hair shall be Tonable in

the year in which Inchal comp . Reed .

&eres : Initial comp . Received
9 .0 .4 110110-311212

9
fue scomparation fined) 1 ,00 ,00 ,000

2) Temp -

Net Conductor 1 100100,000

1 > I. C .0 ·A 25LX If 21-22 is 317 147 ,
45, 5097

If 10-11 12 167

- 3 ICOI 5L X IF21-22 is 317 16 , 60 ,417)
I F 14-15 12 240



m 45 ,94 ,074
-
-

By 23-24 Balance comp-> No yox Implicator .

#-25 Ennorwe comp . Reeve *
Ein comp Revel 15,00 ,000

-> 1179 : keep 2 ,00 ,000
--

win -> 13 ,00 ,000
-
-

convenon

12124
I I

jewellay sold!
Mr e

L

=35h

~

x

cor . Into CA - FM on date of conversion
-> Busines Income

L Also con of Converted CA

Po .= Determine from date of corvation .



#z ↳ Arise or sale of Jewellay ,

&.on lupo-seper 1-36M)
-

Fuc 35 ,00 ,000

11) T-Rep -

MC 35 ,00 ,000

1- ICA 15LX If 23-24 in 348

If 20-21 in 301 17 ,34 ,219

c 7 17 , 65,781
-
-

Parmu-iA contribute In a firm As a capital contributor

Parmu 18110 CA eq lard .

- Firm

strant
As a Capital Wet (Transferees-nor

Fue In nords of Paumu-value a which Assu is
Recorder in Bod of firm .



& => Importey car
In hards of 2

#

1423-2

*

=
Fue (value & which share are recorde in 4 ,00 ,000

Rook of firm)
(1 INA 18000x If 23-2 in jus 129488

If 07-08 e 129
M - 2. 70 ,52
-
-

Break= 5 min => Resume 11:35

- Fuc In case of Immovable Property
- N

↓ stamp duty valu e> 110% of sales considuation -
MOY t

FC = SDX .
fuc= sales

cond .



COR1 SDX => 1 ,00 ,00 ,000 sales considuation = 1 ,20 ,00 ,000
-

frc= Sales Cons = 1 .200

(0x2 SDY = 1 ,00 ,00 ,000 sale considuation = 95 ,00 ,000
-- t

+ 10%
110% of S 1 , 04 , 50 ,000

Fuc= Sale corrid . in = 95,00,000 .

23 SDV = 1 ,00 ,00 ,000 Salve Considerahon = 90 ,00 ,000

t

110% - 199 ,00 , 000

fuc= SDVie 10 As Spu> 110% of Se

Con SDV= 52 , 00 ,000 Sc = 41 ,50 ,000
-- ↳> 110% = 52 ,25 ,000

Fuc = 47 , 50 ,000



Ca25 SDV= 52 , 00 ,000 Sc = 47 ,00 ,000
↳ 10% = 51 ,70 ,000

Fuc= SYVAs puS - 502 in 5900 ,000
SDU > 110% SC

20x5 SDV = 52 , 25 ,000 Sc = 47 ,50 ,000
-

- 1 110% = 52
,25 ,000

SDU > 110% S2
H

Mo/Mahi=> SDV=110% S2
H

fuc=S2 in 4750000
.

SDU= 18 Sc = 802

↳ 110% = 884

SDU > 110% SC : fuc= Ie .



FRV
.

Ier urceessee s DY-
-

- - -
- - rate

-

to => Reque lose to valvanon Mur
-

↑

SDV= IV . Assesse delave = 802

Cox 1 No value >SDY => 1 ,25,00 ,000
-
- t

Fuc=SDY in Iwore

[0x2 No value <SDN but vo values Value deal , by
-

- Assessee
vo Value =902

↓ -> value adophy by
No is gol

Co23 No value value declarey by Assesse-

-

No Value = 75L

tre = Vale dell. by Assesse is SOL .



I I

15412023 154123
tto sell Adv . Recurcy through Title Transfer throug

3 :S
, Mode Re deed

SDV = 502 <Yes 9 time of Agreement
NO
- SDX = 52L

TO sel

Adv=> 552 Al
Payer Adv . Est Losequng
cha

SDV= 52

SDD = 502

o My 23-24
*
=

Fur 50 100 ,000

. As per 50C . As sav excell 110% of Sals
corviduation is SDV = 502 & 110% M S1=38

·501
,

fue cons . Shall be SDV in 5017

[- ICOA 1 , 60 ,000x If 23-2 in 348 55684
IF 01-02 12 100

->101350000x
If 23-241 348 553636
If 13-14 is 220



u -> 38 , 89 ,564
-

-

2012/22125/2



Thank You




